T KEHLLICET HERAR(RIER D ERER)

xRk BR.LER

BARRDER Z{ERth o) B iE

B T & 5 112BN0057-1

5] il £ RJIB %121 EB

il £ i TEETHKERTAJIE F12th |

B OE O BEFREELERERLIAS EELAREUES—

sl . \\ & ) ~ BT >
G i g Y P E‘--Auas Ul
5 ( gvglws 7

g

35 [ (s=1:200,000) LB B (s=1:25,000)

= 1 #th ¥ 0D B F Hh H2 12000000 2% @ | B UV F b 2 K 25000 BEch #7122, B thig L)% 53 EFE



SEMMORERX RS
HHX3I—1 BEOETLOHLLH ELLEEDSTNOHETHOBRER _ _ | #EsE RIS
Z B b0 [E BmEs  J25N00r ] | BmA I EIHEE | el LRl B I BT

0 50 100m
—;—
1/2,500
m Ll TR AR RENEENDHDH DR T REDBHICELDHA100KN/MEEZ 2 EHHE
FLB A Tif 1 ELLEFTOESETIOH LT HDRE 1 1E50HESHAmEERHEE

EFE



[ maEE 7
T Bl ] )T H e 270

Ik

HE

SE MM O ERXE
RS

GIEET E

DEENDHHLIDRER
112BN0057-1 | @&

=
=
|

BR3—1 BEOSThOHLLH, ELLE
Z Bk 06 E BRES

3808 : ////f///f/////
%% _ NN S
BEOSETNDOHD LD XS TEEDOBENZLDADT00kN/ MEFEZ S EiFH
] 1EZ0H#ESHIImTEALEHHA
EFE

T B4R
[ ELLWBEEOETAOHZ LORE

m LA
LA A Fif




SUER D FRIEXERE
BR3—2 BEMICERTAEEESNDERICET Z2EE0/1) FEERE B FI5ESE
[ 2RO E | BmBae 712BN0057-1 B3  AITH LB | e LR A I H B o]
. E2ERO FRICEET S SIERER
Al TEHEOBIFDOEILNDKRES TREOHESILNDKES TEHEOBIFDOEILNDKRES TEHoHEEIEIOKRES
=] = T AN 4 UE D\ | = = U2 A\ - = U D\ = =
1 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — — | 100kN/mM%#Z % — -~ — —|3mEHEZS -~ — — —
Zh Lt 1.00| 0.00 ~ 6.06 7595 | #n st | 000 ~ 6.06 | 1.81 9.15 zh s 100 | 500 ~ 7.00 7595 | #nst | 500 ~ 7.00 | 1.81 9.15
9 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — — | 100kN/mM%# 2% — -~ — —|3mEHEZ S -~ — — —
Zh Lt 1.00| 0.00 ~ 6.60 83.30 | #hbLlst | 000 ~ 0.00| 1.69 8.54 zh s 100 | 500 ~ 8.00 83.30 | #hLlst | 500 ~ 8.00 | 1.69 8.54
3 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — — | 100kN/mM%# 2% — -~ — —|3mEHEZ S -~ — — —
Zh Lt 1.00| 000 ~ 6.73 8499 | ZhbLlst | 000 ~ 6.73| 1.87 9.44 zh s 100 | 500 ~ 8.40 8499 | ZhLlst | 500 ~ 840 | 1.87 9.44
4 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — — | 100kN/mM%# 2% — -~ — —|3mEHEZ S -~ — — —
Zh Lt 1.00| 000 ~ 548 6840 | Zhilst | 000 ~ 000 1.73 8.75 zh s 100 500 ~ 6.00 6840 | #hLlst | 500 ~ 6.00| 1.73 8.75
5 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — — | 100kN/mM%# 2% — -~ — —|3mEHEZ S -~ — — —
Zh Lt 100 000 ~ 444 5535 | ZhbLlst | 000 ~ 444 | 194 9.82 zh s 100 500 ~ 5.00 5535 | #hblst | 500 ~ 500 | 1.94 9.82
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zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 %5 ~ InEHBZS ~
zh st ~ zh s ~ zh st ~ zh st ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 % 5 ~ InEHZS ~
zh s ~ zh st ~ zh st ~ zh st ~
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